

GST # R119457869

City of Calgary Calgary Recreation P.O. Box 2100 Stn. M # 68

Calgary AB T2P 2M5 Phone: 268-3800

West Hill Softball Association 39 Sterling Springs CR Calgary T3Z 3J6

Attn: Nicole Genereux

Account Ph#:

Account Email: info@westhillsoftball.ca

Client Ph#: 403-663-1675

Client Email: generenh@gmail.com

Booking #: 4545140 Date: 2024-12-04

Event: 2025 Minor West Hill Hits and Spits Tournament (APPROVED)

City of Calgary hereby grants West Hill Softball Association (represented by Nicole Genereux), permission to use the Facilities as outlined, subject to any and all terms and conditions specific to these facilities. Payments of fees for all dates listed on this contract must be paid on or before the payment due date indicated. The Group and individual will be held responsible for payment of all dates, future and past, until a written request for cancellation or amendment is received unless directed otherwise by the facility booking representative. Charges will be assessed against the cancellation or amendment deadline. Contact the facility booking representative for deadline information.

Date(s) and Time(s) of Use: # of Appointments Starting:2025-06-13 Expected/Max Attendance

19 Ending: 2025-06-15 1000000

Conditions of Use

All groups must have permit with them during bookings to avoid conflict. If non-permitted user is occupying site, please contact City staff if available on site, or call 311. Play during inclement weather is prohibited. Any groups caught playing during inclement weather where damages occur will be financially responsible for repairs.

Failure to observe facility regulations including but not limited to failure to meet payment deadlines, subletting, verbal, physical abuse, alcohol, or drug use may result in consequences including the cancellation of permit(s) and loss of renewal privileges. A full list of use/regulations may be requested by contacting the Customer Service Centre at (403) 268-3800 #2 or emailing facilitybooking@calgary.ca.

Payment is due 30 days prior to first booking. Payment is due immediately for requests of five bookings or less. Spring renewals are due by March 15 each year. Permit or invoice number needs to be included with your payment.

E Class fields are non-refundable as of April 15 each year.

Field maintenance requests, complaints, and portable toilet placement must be submitted by calling 311.

The City reserves the right to revise or cancel permits at any time.

SR# 24-00919511 - Approved by Parks with no additional conditions: Please ensure tents are weighted down and generator is elevated on not directing on turf.

Facility/Equipment Dat	te and Time		Appointments	Quantity Hrs/#	Rate	Total (Excl Tax)
Glamorgan GLA651 B1GLA13 - A/M - NC Glamorgan Pk Dates: Jun 13 Excluded:	Fri	6:00PM- 9:00PM	1	3.00	\$4.16	\$12.48
B1GLA08 - M/O - E Glamorgan Park Dates: Jun 13 Excluded:	Fri	6:00PM-9:00PM	1	3.00	\$4.16	\$12.48
B1GLA11 - A/M - SC Glamorgan Pk Dates: Jun 13	Fri	6:00PM- 9:00PM	1	3.00	\$4.16	\$12.48

Printed: As of: 2025-05-15 11:14 AM Page 1 of 4



GST # R119457869

City of Calgary Calgary Recreation P.O. Box 2100 Stn. M # 68

Calgary AB T2P 2M5 Phone: 268-3800

West Hill Softball Association 39 Sterling Springs CR Calgary T3Z 3J6

Attn: Nicole Genereux

Account Ph#:

Account Email: info@westhillsoftball.ca

Client Ph#: 403-663-1675

Client Email: generenh@gmail.com

Booking #: 4545140 Date: 2024-12-04

Event: 2025 Minor West Hill Hits and Spits Tournament (APPROVED)

Facility/Equipment Date and Time			Appointments	Quantity Hrs/#	Rate	Total (Excl Tax)	
Glamorgan	GLA651						
Excluded:							
B1GLA12 - A Dates: Excluded:	v/ M - SW Glamorgan Pk Jun 13	Fri	6:00PM- 9:00PM	1	3.00	\$4.16	\$12.48
B1GLA14 - A Dates: Excluded:	V M - N Glamorgan Pk Jun 13	Fri	6:00PM- 9:00PM	1	3.00	\$4.16	\$12.48
	v /M - N Glamorgan Pk Jun 14	Sat	9:00AM- 9:00PM	1	12.00	\$4.16	\$49.92
	v/ M - SW Glamorgan Pk Jun 14	Sat	9:00AM- 9:00PM	1	12.00	\$4.16	\$49.92
	/I/O - E Glamorgan Park Jun 14	Sat	9:00AM- 9:00PM	1	12.00	\$4.16	\$49.92
B1GLA11 - A Dates: Excluded:	√ M - SC Glamorgan Pk Jun 14	Sat	9:00AM- 9:00PM	1	12.00	\$4.16	\$49.92
B1GLA10 - N Dates: Excluded:	/I/O - SE Glamorgan Pk Jun 14	Sat	9:00AM- 9:00PM	1	12.00	\$4.16	\$49.92
B1GLA13 - A Dates: Excluded:	v /M - NC Glamorgan Pk Jun 14	Sat	9:00AM- 9:00PM	1	12.00	\$4.16	\$49.92
B1GLA13 - A Dates: Excluded:	N M - NC Glamorgan Pk Jun 15	Sun	9:00AM- 6:00PM	1	9.00	\$4.16	\$37.44
B1GLA08 - N Dates: Excluded:	/I/O - E Glamorgan Park Jun 15	Sun	9:00AM- 6:00PM	1	9.00	\$4.16	\$37.44
							Page 2 of 4

Printed: As of: 2025-05-15 11:14 AM Page 2 of 4



GST # R119457869

City of Calgary Calgary Recreation P.O. Box 2100 Stn. M # 68

Calgary AB T2P 2M5 Phone: 268-3800

West Hill Softball Association 39 Sterling Springs CR Calgary T3Z 3J6

Attn: Nicole Genereux

Account Ph#:

Account Email: info@westhillsoftball.ca

Client Ph#: 403-663-1675

Client Email: generenh@gmail.com

Booking #: 4545140 Date: 2024-12-04

Event: 2025 Minor West Hill Hits and Spits Tournament (APPROVED)

Facility/Equ	ipment Date a	and Time		Appointments	Quantity Hrs/#	Rate	Total (Excl Tax)
Glamorgan	GLA651						
B1GLA11 - A Dates: Excluded:	/ M - SC Glamorgan Pk Jun 15	Sun	9:00AM- 6:00PM	1	9.00	\$4.16	\$37.44
B1GLA10 - N Dates: Excluded:	1/O - SE Glamorgan Pk Jun 15	Sun	9:00AM- 6:00PM	1	9.00	\$4.16	\$37.44
B1GLA12 - A Dates: Excluded:	v /M - SW Glamorgan Pk Jun 15	Sun	9:00AM- 6:00PM	1	9.00	\$4.16	\$37.44
	v /M - SW Glamorgan Pk Jun 15	Sun	6:00PM- 9:00PM	1	3.00	\$4.16	\$12.48
B1GLA14 - A Dates: Excluded:	v /M - N Glamorgan Pk Jun 15	Sun	9:00AM- 6:00PM	1	9.00	\$4.16	\$37.44
B1GLA14 - A Dates: Excluded:	v /M - N Glamorgan Pk Jun 15	Sun	6:00PM-9:00PM	1	3.00	\$4.16	\$12.48
Risk Manage Special Ever	ement Fee It Admin Fee (CSC only)				1 1		\$5.75 \$26.25

Net Value		\$613.18
Tax		\$30.34
TOTAL Booking	147.00 Hours	\$643.52

Printed: As of: 2025-05-15 11:14 AM Page 3 of 4



GST # R119457869

City of Calgary Calgary Recreation P.O. Box 2100 Stn. M # 68

Calgary AB T2P 2M5 Phone: 268-3800

West Hill Softball Association 39 Sterling Springs CR Calgary T3Z 3J6

Attn: Nicole Genereux

Account Ph#:

Account Email: info@westhillsoftball.ca

Client Ph#: 403-663-1675

Client Email: generenh@gmail.com

Booking #: 4545140 Date: 2024-12-04

Event: 2025 Minor West Hill Hits and Spits Tournament (APPROVED)

Additional Notes:

SR# 24-00919511 - Tentatively booked as requested - EXCEPT -B1GLA10 on June 13 - not available (REQESTED: Portisans, Tents, Mowing)

***NOTE: Deadline for priority considersation for applications was Monday, Dec 02. Application arrived after the deadline on Dec 03. As a result, B1GLA10 on Friday, June 13 is NOT available, as it was booked by another group last year. Please send an application on public day (Mar 05, 2025) to see if the group cancelled the date.

Sent Admin fee invoice

Once paid, sending to Parks for approval ---MSN @ BRCS. Dec 02, 2024

SE Invoice# 4388024 - PAID on Dec 08. Sent to parks for approval ---MSN @ BRCS

SR# 24-00919511 - Approved by Parks with no additional conditions. More info to come for portisans.--- MSN @ BRCS. Dec 24, 2024

Permit: 4545140

Request Received: Wed May 14, 9:49 PM

Add_booking Jun 15 2025, 6:00 PM - 9:00 PM Glamorgan GLA651 B1GLA12 & B1GLA14 - A/M - SW Glamorgan Pk

Extending booking in case of rain delays on the weekend of the tournament.

TC 05-15-25

I, **Nicole Genereux**, acknowledge and agree that I have read the terms and conditions included and/or attached and agree to be bound by them, my entry or the entry of one or more of the people I represent to the facility on the first date listed on this permit will confirm my acceptance of all the terms and conditions of this permit; if this permit is taken out in the name of a group or company, I have the authority of that group or company to bind it and its members to this agreement and the terms and conditions contained herein.

Please contact the undersigned if there are errors or omissions in this permit.

Arenas & Athletic Parks, Schools, Parks & Picnic Sites Phone (403) 268-3800 option #2 Mail Code #68 For all other facilities, contact the facility booking representative

Printed: As of: 2025-05-15 11:14 AM Page 4 of 4